St. Mary’s School Dwarka
Winter Holiday Homework
Class VII

Subject: English

General Instructions:

1) The work should be done neatly and in a systematic way.
2) The given questions are to be done in the English notebook.

3) Write questions along with the answers

Q1. Fill in the blanks with appropriate words: (Y2 x4=2)
Tom Wilson (a) (be) an explorer. He (b) (be) to nearly every country in
the world. But the most exciting time he (c) (ever have) was when he (d) (go) to

the Congo jungle.

Q2. Fill in the blanks with appropriate words: (Y2 x4=2)
Ruhi (a) goes to the village to meet her grandmother. She loves her (b) It (c)
takes her two hours to reach there by train. Her grandmother (d) waits for her

on weekends.
Q3. Convert the following sentences to passive voice: (1x2=2)
The author has written many books.
| prepared pasta for the breakfast.
Q4. You are Ashok/Asha of class VII. Recently many interschool competitions and matches
were organized in your zone. Write an article on the importance of participating in games and
sports highlighting the dictum, ‘A Healthy Mind Resides in a Healthy Body’. (5)
Q5 . a) Read the following lines and answer the questions given below: (Y2 x4=2)
‘What is more, he had now become conscious of his audience and how they were all
silently rooting for him.’
1) Whom does ‘he’ refer to in the above line?
i) Why was he getting conscious?
1i)Why were the audience silently rooting for him?
iv) Name the lesson and the author.
b) Answer the following questions in about 30-40 words: (2x2=4)
1) Who was Trunchbull? What did she accuse Bruce of?
i) Why was Jiya her grandmother’s favourite grandchild? What did she do while her

grandmother was asleep?
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c¢) Answer the following questions in about 40-50 words: (3)

i) What made Swami stay close to Mani on the last day of the school? How did Swami

and his friends enjoy their last day in the school?
Subject: Hindi

et faden—
o fou e wefl uzell & Jeaw fEd ot Jcax yfeaw: @ ke |
o orf wTE TYGH T WT o A i |
* IYYRHHA TS WS D ULell B Icuw Poren faifwe |

=GUs ‘37
yeel 1 fRsefofta sgfdwedta uesil & seae Fdemgar dfsie — (1x6=6)
® fedeilciRaa Aol 9 A <orerEa® @ @€ dq vifce |
1 TAATCIfeIb2oT cell AIfeidrol
2 THATCIEIBROT dell RAfEIHoT
3 TAACIIEIBROT dell =AfeideoT
4 wdATEeTfeweor aen fagiyor
| ‘[oaen ool smet &1’ 5w ar & v Swed fAwrRnalas e oI =it
foar sirean?
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2 3iE
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2 Tqeditd
3 faen
3 fagivor
5 3¢ @l gfte A die @ [dael UdR gid & ¢
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q  srcafie’ ere @l widl wft-facde erea—wle w1 &7

1 31a+3ifeis

2 sifertsifeio

3 sratafas

4 3rcit+sifeis
fefoifea vesit & e difsie ¢ (3x3=9)
ues] 2 sflcide ®a 3iftere & 3oar em 3w a=i?
ugel 3 qgfen ql ol 87 qae e ® cAfddeca Ue Jeicdl T1 U8id TSI !
Uee] 4 AfIYT oI eAAD ®iel &A1! IHc 315fol A Yes avdl fder !
3eet 5 ‘U5 sk AN s fava ux 70 & 80 vl e fof@e | (5x1=5)

Subject: Sanskrit

e fader -
1 WAYIHA, TLASTIE, Icadl, HeRdwl SelprRIyfeamrre, farad |
2 HANIH, ULl Icadl, Pl ard, forad |
3 oRidY waTed TGHe T, o | favad |

ueel 1 seifofRay agdwedl yestene scak Adengar foraa - (1x6=6)

() & QDL ...veeeen... | R el 3fa ey oo if7a?
(®) s, () e (o1) g

(ii) 2T QBT .oo........ A7 <ome S Sret fBo 3127

. (®) @2 (za) @1 (a1) ®a1

(i) TG ..oveve.. (BN, + wcan) wrRiA BAf | o ot SfRiae formaa?
() wifsaar (za) @isca (e1) wifsem

(IV) oo, 9101 URledl 31l | Roa werel 3fid SIcrIdUGe foe sifea”?
() ureR (Ra) waas  (a1) @@

(V) carerdt ------ ( 39) srems =fee | feaa werel 3fa w=wuce fod sifea !
(®) vwacafied () afer (o1) ewugiRem

(V1) TOAT BRI aeererenereraensnene (5¢45) emafa | Raa werel sfda o6 foe sifza’
() =mefucarceter, (7a) urcleiusarGetd (91) Urcielusadrceid,

yee 2 (o) R@fda uee smegea s feflaaey - (ox2=2)
(i )fcior: Asmemey ueafx |
(it) aifdas e Ssdser srefd |
(iii ) sredt emaes |
(iv) Afdes dere zefd |
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(za) smopmrem fa yeH Ficar Roaeenf qraa - (Y2x4=2)

(1) 31EATIDE «.verenenee ereefd |
(LD 2 v S HerRIas |
ULD]CE 2 - - e |
(V) ............ aresia |
ues 3 () [RRUR, AoTeldl, Tod - (Yox4=2)
(1) eretay ST
(1) dues QTeTR
(iii ) eifas RRIUTIRI
(iv) faen UPTRIRI
(za) sreifeifraer ereei sefe foaa — (oxa=2)

eftzadt , wgams ,eifaledl |, A |

Uvel 4 UGed foS qtcdl APSNIRI UGed QIealsie] derRIae fRaaeensnfa qwaa —
(2x6=3)

IO — Q&R , SoGHS W , THCTAGIH, , SUdeTe] , AlIPR, , YoIoos |
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uee 5 srifaffa wae smeprm fauafa fawar Raazenenfa gera-
(Y2x6=3
oM - IS , SeAPaE, afd, A, fefeers,  orsf@

e® 2 [1]......... cad ® Jreefa 7

R - 3. [2] ......... ITCOIfH |

e@ - f& caar sierem wd [3]............ ?

3IRA3 — 3191 31891 31¢fell ©d el |

cm - ooy ufdfca ea wer [4]......... ?
3RA3 - AW ®acid, [5] ............... aafad |
cas - 3 [6] ......... aTared|

3IRA; - IIBIfd 318

Subject:Mathematics

General Instructions:

1) The work should be done neatly and in a systematic way.

2) The given questions are to be done in the Mathematics notebook.

3) Show the calculations in a rough column in front of answers.

QL. Represent the following rational numbers on a number line : (Y2x4=2)
a) —2 b)- = oF d) 2
Q2.List five rational numbers between -4/5 and -2/3. 2
Q3. a): Can two equilateral triangles always be congruent? Give reasons. Q)
b) In the given figure, PQ || RS and PQ = RS. Prove that APUQ ASUR. @)
P 4 cm Q

Q4. Construct a right angled triangle PQR right angled at P where PQ =8 cm and QR =10

cm . Also write steps of constructions and measure the length of PR . (3)
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Q5. a) The number of people employed in a firm decreased from 240 to 210. Find the

percentage decrease. Q)

b) Vineet deposited 8500 in a finance company which pays 18% interest per year. Find the

amount he will receive after 3 years. @)
¢) Sunil obtained 750 marks out of 800 and Preeti obtained 540 marks out of 600. Whose
performance is better? (2

Subject: Science

General Instructions:

1) The work should be done neatly and in a systematic way.

2) The given questions are to be done in the Science notebook.
3) Write questions along with the answers.

4) All questions are to be answered in 30 to 40 words.

Q1. Define the following terms: (1+1=2)

(@) Reeling
(b) Cellular respiration

Q2. Differentiate between: (1+1=2)

(@) Animal and Plant fibre.
(b) Aerobic and Anaerobic respiration.

Q3. Explain the human respiratory system with the help of a diagram. (2)
Q4. Give reason: (1+1=2)

(a) We sometimes experience cramps while exercising.

(b) Wool keeps us warm during winters

Q5. Animal activists oppose the present process of getting silk from the cocoon. Why

do you think they are against it? 2

Subject: Social Science

General Instructions:

The work should be done neatly and in a systematic way.
The given questions are to be done in the Social Science notebook.
Write questions along with the answers.

Question No.1 & 2 need to be answered in 30 to 40 words.
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e Question No.3 & 4 need to be answered in 40 to 60 words.

Q1. What were the major teachings of Sant Kabir? 2
Q2. We know very little about the tribal societies of the medieval period. Why? (2)

Q3. What are waterways? Write two lines each on the different types of waterways along
with examples. 3

Q4. What is advertising? Name the three kinds of advertisements and explain any one in
detail. 3)

Q5. Make a G.O. of the various types of forest and write any two features of each. 5)

Subject: Computer Science

Q1. Click on the link given below to answer the multiple choice questions: - (10)

https://forms.gle/wOQUEC5NgEPN679sz7
Q2. Lab Activity: (5)

e Create a web page to show the effect of following in MS-FrontPage.
e Take the screenshots question wise and paste it in a Word file. Save it as a PDF
file and upload under Assignments tab in Microsoft Teams.
1. Use paragraph tag, bold tag, italic tag and underline tag to display the following text.
Vacuum Tubes — 1946 — 58
Transistors — 1959 — 63
Integrated Circuits — 1964 — 70

Microprocessor — 1971 onwards (Apply <tt>Tag)
ificial " I I
2. Apply a horizontal rule tag.
3. Use superscript and subscript tag to display the following text.
C2HsOH
CsHsCOOH
a+bdv= a3

4. Apply a horizontal rule tag.
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https://forms.gle/w9UEc5NgEPn67qsz7

5. Create the table as shown below.

Name Address City Pin Tel. No

Kabir 605, Sector 2 | Panchkula 134109 2567890
Ridhima 105, Sector 20 | Panchkula 134109 2456831
Anika 24, Sector 35 | Chandigarh 160053 4567321
Manas 645, Phase 11 | Mohali 120145 3456782

e Increase the cell spacing to 5% and cell padding to 10%.
e Set the border width of the table to 8.

e Merge the cells Pin and Tel. No for Manas.
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